TOP

66 KV 220
B
300kW = (mA)
- f‘;”‘(‘” 500"‘”_300) 2000 mA (@) x (b) x ©)] .
6 501kW  1000kW a Pix
No. (kVA) (kVA) Pi Ki [Pi x Ki] =0.9- ( -500)/10000 875 b 5 ! 1 13 1 10 23 2
kVA (kVA) 1001kW  2000kW 1548.750 80 63 32 14 9 5 4 72
1 2L-1 17.7 1 177 1 177 =0.85- ( -1000)/20000 2826.250 80 115 59 25 17 10 8 72
2 1L-1 32.3 1 32.3 1 32.3 3255.000 40 365 118 94 53 42 31 21 18| 34
3 1P-1 37.2 1 37.2 1 37.2 ()=Pix875 - 1093.750 40 0 0 0 0 0 0 0 0| 53
4 ELV 125 1 125 1 125 875 6600V 2012.500 40 225 73 58 33 26 19 13 11| 34
5 2P-1 23 1 23 1 23
6
122.7|  50kVA 768 283 190 113 83 63 42 36
50KVA 2 X B 768 283 190 113 83 63 42 36
(e} (e} (e} (e} (e} (e} (e} (e}
T
x B
No .
N Ki 5 7 11 13 17 19 23 25
0 5 7 11 13 17 19 23 25
770 550 352 286 220 198 167.2 154
6 11 {100 175 11 45 3 15 1.25 0.75 0.75 (mA)
1 12 12 [050 2 15 45 3 0.2 0.15 0.75 0.75 ﬁ
24 13 [o025 2 15 1 0.75 0.2 0.15 0.75 0.75
21 130 19 13 7 55 3 - - -
2 22065 6.3 8.7 32 1 23 - - - 7 11 13 17 19 23 25
23 070 8.8 6.2 38 26 2.2 - - - 35 25 16 13 1 0.9 0.76 07
31 [3.40 65 41 85 77 43 3.1 26 18 X 220 kW
3 ACL 32 180 38 145 74 34 32 19 17 13
DCL 33 180 30 13 8.4 5 47 32 3 22 | B = 1
ACL+DCL 34 |1.40 28 9.1 7.2 41 32 24 16 1.4
41 | 230 50 24 5.1 4 15 1.4
4 ACL 42 | 035 6 3.9 16 12 06 0.1 - -
0.35 6 3.9 16 12 06 0.1 - -
UPS 51
5 PWM 52
PWM 53 1
54 10.00 - - - - - - - - >
61 o
6 PWM 62
63 000 - - - - - - - - o .
71 160 12.9 12.7 76 55 4.2 41 34 2.9
7 721030 5.1 26 1.1 0.75 0.44 0.35 0.24 0.2
721030 5.1 26 11 0.75 0.44 0.35 0.24 0.2
6 81 |1.00 175 11 45 3 15 1.25 0.75 0.75
8 12 82 050 2 15 45 3 0.2 0.15 0.75 0.75
82 1050 2 15 45 3 0.2 0.15 0.75 0.75
1 9] 9 020 43 - - - - - - -
10 10
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6.6 kv 180
B
300kwW = (mA)
- 301kW  500kw A @ x (b) x )
=1-( -300)/2000
6 o S01kW 1000kW a Pix b 5 7 1 13 17 19 23 25
No. (kVA) (kVA) [Pi x Ki] =0.9- ( -500)/10000 87.5
kVA (kVA) 1001kW  2000kW 2056.250 50 52 27 11 8 5 2 2 7
1 L-CPU 235 1 235 1 235 =0.85- ( -1000)/20000 682.500 50 17 9 4 3 2 1 1 7
2 2L-2 7.8 1 78 1 78 2371.250 50 71 46 19 14 7 3 ACL+DCL
3 1L-2 271 1 271 1 271 (a)=Pix875 1426.250 50 271 103 53 24 23 14 12 9 5
4 1P-2 16.3 1 16.3 1 16.3 3010.000 50 90 59 24 18 9 2 3 ACL+DCL
5 2P-2 34.4 1 34.4 1 34.4
6
50kVA 502 244 111 67 45 21 15 12
50kVA 2 x B 502 244 111 67 45 21 15 12
(e} (e} (e} (e} (e} (e} (e} (e}
xB
No .
N Ki 5 7 11 13 17 19 23 25
0 5 7 11 13 17 19 23 25
630 450 288 234 180 162 136.8 126
6 11 |100 | 175 1 45 3 15 1.25 0.75 0.75 (mA)
1 12 12 | 050 2 15 45 3 0.2 0.15 0.75 0.75 ﬁ
24 13 | 025 2 15 1 0.75 0.2 0.5 0.75 0.75
21 130 19 13 7 5.5 3 - - -
2 22 10.65 6.3 8.7 3.2 1 2.3 - - - 7 11 17 19 23 25
23 1070 8.8 6.2 3.8 2.6 2.2 - - - 35 2.5 16 13 1 0.9 0.76 0.7
31 ]340 65 41 8.5 7.7 43 3.1 2.6 1.8 X 180 kW
3 ACL 32 |1.80 38 14.5 74 34 3.2 1.9 1.7 1.3
DCL 33 | 180 30 13 8.4 5 47 32 3 22 | g= 1 |
ACL+DCL 34 1140 28 9.1 72 41 32 24 1.6 1.4
41 230 50 24 5.1 4 15 14
4 ACL 42 {035 6 39 1.6 1.2 0.6 0.1 - -
uPSs 5
5 PWM
PWM ]
0.00 - - - - - - - - >
6 o
6 PWM
0.00 - - - - - - - - o -
71 1160 12.9 12.7 76 55 4.2 4.1 34 29
7 72
0.30 5.1 2.6 11 0.75 0.44 0.35 0.24 0.2
6 81 ]1.00 17.5 11 45 3 15 1.25 0.75 0.75
8 [ 12 82
0.50 2 15 45 3 0.2 0.15 0.75 0.75
1 9| 9 (020 43 - - - - - - -
10 10
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6.6 kv 180
B
300kwW = (mA)
- 301kW  500kw A [ @ x (b) x )
=1-( -300)/2000
® o 501kW  1000kW a b 5 7 1 13 17 19 23 25
No. (kVA) (kvA) [Pix Ki] =0.9- ( -500)/10000
kVA (kVA) 1001kW  2000kW 1251.250 50 32 16 7 5 3 2 1 7
1 2L-3 14.3 1 14.3 1 14.3 =0.85- ( -1000)/20000 1356.250 50 35 18 7 5 3 2 1 7
2 1L-3 155 1 155 1 155 1251.250 50 38 24 10 8 4 3 ACL+DCL
3 2P-3 143 1 143 1 143 (@=Pix875 - 5
4 1 0 1 0 3 ACL+DCL
5 1 0 1 0
6
50kVA 104 58 24 17 9 5 3 3
50kVA 2 x B 104 58 24 17 9 5 3 3
(e} (e} (e} (e} (e} (e} O O
xB
No |
N 5 7 11 13 17 19 23 25
0 5 7 11 13 17 19 23 25
630 450 288 234 180 162 136.8 126
6 11 |100 | 175 1 45 3 15 1.25 0.75 0.75 (mA)
1 12 12 | 050 2 15 45 3 0.2 0.15 0.75 0.75 ﬁ
24 13 | 025 2 15 1 0.75 0.2 0.5 0.75 0.75
21 1130 19 13 7 5.5 3 - - -
2 22 065 6.3 8.7 32 1 2.3 - - - 5 11 13 17 19 23 25
23 1070 8.8 6.2 3.8 2.6 2.2 - - - 35 2.5 16 13 1 0.9 0.76 0.7
31 ]340 65 41 8.5 7.7 43 3.1 2.6 1.8 X 180 kW
3 ACL 32 |1.80 38 14.5 74 34 32 1.9 1.7 1.3
DCL 33 | 180 30 13 8.4 5 47 3.2 3 22 | g= 1 |
ACL+DCL 34 1140 28 9.1 7.2 41 32 24 1.6 1.4
41 230 50 24 5.1 4 15 14
4 ACL 42 6 39 1.6 1.2 0.6 0.1 - -
0.35
UPS 5
5 PWM
PWM ]
0.00 - - - - - - - - >
6 o
6 PWM
0.00 - - - - - - - - o -
71 1160 12.9 12.7 76 55 4.2 41 34 29
7 72
0.30 5.1 2.6 11 0.75 0.44 0.35 0.24 0.2
6 81 |1.00 17.5 11 45 3 15 1.25 0.75 0.75
8 [ 12 82
0.50 2 15 45 3 0.2 0.15 0.75 0.75
1 9| 9 (020 43 - - - - - - -
10 10
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